LESSON # 12

[ BOTH (@1%?) - Be%; 7001 ] 5 AT Practice 391 T

0. ARE BOTH MY HANDS ON THE TABLE?
I oIk TR e LR ar @ ?
R w7 5 GR Ber
Yes, both  your hands are on  the table.
T, @Y W F] W W W @I
377, CoTR Tow 2102 (GRER B9 |

o3, ARE BOTH THESE BOOKS OPEN ? (= «@Z 751 92-2 & (4 7)
W @R AR £SO G

Yes, both these books are open.
T, @Y A I SR e

| Ssea s1restier e | 21, @2 BT 93-2 (e

oo.[2] ARE BOTH OF US SITTING? (=Sl qeusg & <07 i 2)
W @ey ww o owm fife e

Yes, both of us are sitting. (= T, ST qereaR 0T 1R 1)
TP, @18Y W WP W Biftr

e N
0I. Both the children &m #1 QA # 9 AT
02. Both the men are old. \ . )
03. Both the women are poor. are-« Ol 1 subject =T
04. Both the students are sitting. GFET @R | @N: Both the
05. Both the birds are flying. '
06. Both the babies are in the bed. children, the men, women,
07. Both the cars are in the garage. cars, boys 3717 |
08. Both the boys are at school.
09. Both the mobiles are in the bag. L Q& verb X are | )
|0toHer0#28|
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LESSON # 12

[ MEAN @) - 7 s e |

08. What does the word “use” mean in Bangla?
3 T B¢ R to A G - C O | B

| o <o < | e wrae USE *ii o i 2 s ~
, S
The word “use” means ‘IR in Bangla. SRR T T,
wooeAe FY T A9=@ B AR S
1T o USE b o 205 37929 | P
3ecafee =0 Bangla !
\_ J

o¢. What does the word “who” mean in Bangla ?
@¥E Ty W oee g A WA e
[ st e <reemes WHO i i 9 2 2

The word “who” means “@” in Bangla. ( IRFTS who *MGR S =G &)
woems g W ‘@ ¥ R

oV, What does the word “which” mean in Bangla?
@AC TR W GWE ¥ Ty T| T e
| ey =1t < | e oraTe WHICH *r5T o 5 2

The word “which” means “@HG” in Bangla.
w e e  which Jp ‘RT3 rE
| Stz tetie <t | e ©raes which *tr o =T “@wG” |

Kindly read the following sentences quicklﬂ

01. The word ‘problem’ means TP
02. The word ‘happy’ means .
03. The word ‘clock’ means ‘90,
04. The word ‘gloomy’ (2f)means ‘=T
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Language (FTR&)- ©F; European (2SEIMPRI) - SSRIAT; Asian (92RE)

( Read LOUDLY

oa. [em] WHICH LANGUAGE ARE WE SPEAKING NOW ?
gfin RETIY IE| Sf =Nfee DI

| ercez sreeter qre | wrswEr @ew (e ©rEE w9 @R

We are speaking English now. {Present Continuous (53}
S wg Nfee 2efom WG

| St sreter e | e @ 2eferee war 9ISy |

ob. [e] WHICH LANGUAGE DO YOU GENERALLY SPEAK ?
235 FRYTIE T 3T (SreafeT e 2

| et e et | e o B TS T %# 2

I  generally speéak Bangla. {Simple Present (5=}
g (G NS FIE | (= SN AR qRECe FAT I 1)

ob. WHICH LANGUAGE DOES HE GENERALLY SPEAK?

| etcea st awe | G SEerS (R o A 2

He generally speaks Bangla. (= G7 A4€eS AT FA 0T 1)
& comEft AR [

e A
(ST (ST TS 92 IR oY (AL

1. He generally goes to office at 8 am. e TSR, (@R H

2. He generally cooks beefat Eid. .

3. He generally washes clothes in the morning. QL] T A>T 06

4. He generally speaks German. O GEIE T FET 2062 |

5. We generally contact him at night.

6. We generally contact them on Monday. QTS AT T

7. They generally invite us on Friday. ‘ simple present B |

8. 1 generally take  tea in the morning. L )
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LESSON # 12

o. IS CHINESE A  EUROPEAN  LANGUAGE?
gy IZETIE o STt TRETTE 2

| ercxz st 2w | vr3fe o @ fs TSt o

No, Chinese is not a European language, but it is an Asian language

@,  BRAY  3Y WG o W@ wyRewIey, G 2 Y W A TR FReTIe
| Stz seter e | =, vrafee 2 o, g @ff af*mEe o

ONLY () - 9ia
G TP (AR *1% T 5o 197 I practice 91 I<:

. WHAT IS THE NEGATIVE OF "I HAVE " ?
R EX| al ooy L | HAVE " ?

| et A=A qrE | T HAVE” -3 -1 o 2

The  negative of "I have" is " ' do not have".
™ @ifte O “] have” 3 “I do not have”

| Swtza st e | 1 have-« w1-cres 197 zosz “1 DO NOT HAVE’.

52, WHAT IS THE CONTRACTION OF" I DO NOT HAVE"?
@AG T A FAGIRHT s | DO NOT HAVE ?

| etz 1<t A= | 1 DO NOT HAVE-«@ 7iefre 71 e

The contraction of "I have not" is "I don’t have".
I I == | have not 2 I don’t have.

[ Setzm st ae | [ HAVE NOT-«= k% 551 200% - [ don’t have |
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so.[¢@] DO 1 HAVE FOUR ARMS?
T WE e &R S

| e stter e | o 6 o1 A weR 2

DO NOT-¢3 7ee F9

v
©) I DO NOT HAVE—> 1 DON’T HAVE
Wz g W e w1z R )
@ YOU DONOT HAVE — YOU DON’T HAVE
2T T T RUE 3T i BUS]
CoME 2 CoE =
©) HE DOES NOT HAVE ——» HE DOESN’T HAVE
o= BIEY o BIEY
@ SHE DOESNOT HAVE —» SHE DOESN’T HAVE
A T W RU) A TG RIS
S5 RIS SIS LIS
® IT DOESNOT HAVE — IT DOESN’T HAVE
«fSq LIy «foq BIEY
® WE DO NOT HAVE —» WE DON’T HAVE
g T W RUSY T ©rg e
SR 2 Sij(eE] BIEY
@ YOu DO NOT HAVE —»YOU DON’T HAVE
g T RUS) 3T ©rg RIS
(O RIS &SR BIE
THEY DO NOT HAVE —»THEY DONT HAVE

Al BIEY )[4 BIEy
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LESSON # 12

s8.[¢@] DO 1 HAVE FOUR ARMS?
T wWg e @R o 2

| e s et | st 6 BI=GT A W 2

No, you do not have four arms, but you have only two arms.
@, W g T T FE AP, A T Y I G AR

| Stz st e | =, comm oS 91 (17 e o Wiw w3 9 Wiy |

se. DO YOU HAVE TWO HEADS ? AT RS T 2T
T [ gy  § @A 2
(RNTT &
| ercea st T | o 6 geBt W e 2
I SOFIH T |

No, I do not have two heads, but I have only one head
@, WR g W oF®  F @, I ARIE T R =

| Satma et e | =, st B A W12, 6 SN @ G<R6T WL g |

S0, DOES HE HAVE ONLY ONE HAND?
TR & EUIC) ST ST EUCEEE

SR AT A | O ¢ @F B Wi 7o SitR?
No, he does not have only one hand, but he has two hands

| Setea sstier e | =, o @B Wi 7S 52, g ' vl =S Wi |

sa. [e] DOES HE HAVE TWO  NOSES?
R f2 T I3 T 2

&

| eicem et qren | wr= o qeBT W e

No, he does not have two mnoses, but he has only one nose

@, & T % e § e, A6 ROgR owE e (W

| Stz stdtier e | =1, o BT Wi (72, e o1z @ ig @1 W Wi |
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sv.[e] DO WE HAVE ONLY ONE MOUTH? [ «% o6 a1 2
T %] e W™ ey TR 2 S AL AT

| ercxz steeter <re | oo &5 9= W@ 2 e 2 SRSIERRICEIS

No, we do not have only one mouth, but we have two mouths

™, B8 Y WG Y EE emq Wey, @ T ye  § W)

| Stz st et | =, s @l Wiw Y2 =7, e wwiens gobT ) iR |

. DO THEY HAVE EIGHT EARS? a2 oS a1 20
=@ Rl RQ T v S e
| eic sttt st | ©1ew o BBt w1 weRe e T

No, they do not have eight ears, but they have only four ears

| Setea sttt e | 1, oewa 0BGt w9 (72, 58 OIOMA WG HIFGT S ST |

(T 41 (RITBCA IHC foex «2 <2 Practice s $AR:

W <% W21 <% e s e
T G (AP U A 2ATOBT page~a TR PG R
SITATSCR N AR RIS (A AR,

(T 72 (T (TR (BRICR (BT 21T |

a7 T o (A2 W S a1 correct
Jafere U I oA (A |
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LESSON # 12

01.
02.
03.
04.
05.
06.
07.

08.
09.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

The
The
The
The
The
The
The

He
She
They
She

He
She

negative of
negative of
negative of
negative of
negative of
negative of

negative of

does not
does not
do not
does not
don’t

don’t

does not

does not

Mamun does not

Tishad does not

Sakib does not

Ruma does not

Fahad does not

069 IR (&R (S THIF T 58
English-&% 9i¢ @RIF 681 T

you
‘they
‘we
‘he
‘she

‘Hasan

‘the man

have’
have’
have’
has’
has’
has’

has’

1S
18
is
is
is
18

is

have two houses,

have four cars,

have one
have ten
have one
have 3

have 8

have one
have one
read one
want one

buy one

child,

pens,

pencil,

boxes,

legs,

brother,

toy,
book,
ball,

toy,

play tennis,

‘you don’t have’.

‘they don’t have’.

‘we don’t have’.

‘he has not’.

‘she has not’.

‘Hasan has not’.

‘the man has not’.

but he
but she

has one

has one

but they have two

but she
but I

but we
but he
but she
but he
but he
but he
but she
but he

has  two
have many
have many
has 3

has 3

has  many
reads many
wants many

buys many

plays cricket.

house.
car.
children.
pens.
pencils.
boxes?
legs.
brothers.
toys.
books.
balls.
toys.
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